A & 0l & AFE B Al A
20258 =0ilat LEraH| =4kt
=4kt
0= A= o
=AME A B 7S (Crel: &)
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
23,890,723 29,962,771 26,072,048
= 1,716,240
s 5,694,278
< 5,431,309
Al 11,048,896
E a5 OHFE 8,784,274 14,511,718 Nb, 727,444
= 587,240
= 3,304,343
Al 4,892,691
oS AAE B RS2 2,254,568 6,472,422 N4,217,854
= 66,000
< 1,178,806
Al 1,009,762
SASAXIISBAEAE (S E) (D EAL 760,500 1,500,000 AT739,500
= 760,500
402 SItXE01M 760,500 1,500,000 AT739,500
< 760,500
02 QIZHH2 AT 2 A (01X THA) 760,500 1,500,000 A739,500
A2 ARIDISAIE XIJA 760,500
= 760,500
=¢ttE 2 22 50,000 50,000 0
307 212t01& 50,000 50,000 0
02 RIHEAIAHE X 50,000 50,000
A2 (8X) ZESI| B2 50,000
LAHE MUZ L HrMEAIE 100,000 22,000 78,000
401 AlEHIZSOHY] 100,000 22,000 78,000
01 AlZHI 100,000 22,000 78,000
LAHE M2 X S MEAIL 100,000
FAAE ZEI X 115,020 120,000 24,980
< 34,506
Al 80,514
307 212t0l& 115,020 120,000 24,980
= 34,506
Al 80,514
02 RIRHEAIAMHE R 115,020 120,000 A4,980
FOAE ZET X 115,020
= 34,506
Al 80,514
= =HA | 22 97,000 137,000 240,000
201 EH2EH| 57,000 57,000 0
01 AtR2te|H] 27,000 27,000 0
|, 22 E 27,000
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SN A
M HE A4S HE
ol UME A B RSad (CH: ®2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
&= 2 ol==F=AlE JHS 600,000 0 600,000
= 300,000
Al 300,000
401 AlEHIZL 08I 600,000 0 600,000
& 300,000
Al 300,000
01 AlIEH| 600,000 0 600,000
S 2 oi=F=AlE A 600,000
& 300,000
Al 300,000
+==£8 d 2 XA 90,000 0 90,000
= 27,000
Al 63,000
307 212t01 & 90,000 0 90,000
= 27,000
Al 63,000
02 QIRHBAIAMHE R 90,000 0 90,000
=52 4 UM X 90,000
& 27,000
Al 63,000
HEEMEE Y HUXA 6,529,706 8,039,296 21,509,590
= 521,240
& 2,125,537
Al 3,882,929
AR BExELXA 400,000 380,000 20,000
& 372,000
Al 28,000
401 Al&HIZ 20| 400,000 380,000 20,000
& 372,000
Al 28,000
01 AlEH| 397,548 377,300 20,248
SEE dEE B8 357,948
= 357,948
NLoHg erMe2t &X| 39,600
= 11,880
Al 27,720
03 AIE=0HY| 2,452 2,700 A248
SEE dEE B8 2,052
= 2,052
XgHe etM 2t X 400
= 120
Al 280
HEME0E MR HEXIZE ALY 100,656 98,928 1,728




S 20T
B OFE AS O
CHol: O{HEMER 9 0RI0IXIR (crel: miz)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 30,197
Al 70,459
307 DI2F0[A 100,656 98,928 1,728
= 30,197
Al 70,459
02 SIS AAREE 100,656 98,928 1,728
OEREEY0IS ADE HEXR 100,656
= 30,197
Al 70,459
oEtAld sXi2tel 96,724 72,774 23,950
101 @1 24H| 49,224 47,774 1,450
04 JIZHHI2Z2 XS ES 49,224 47,774 1,450
oE2e[(FHL) 49,224
A== 80, 24021 x22 1952 31,294
e 80, 24021 x22§ 5402 6,420
== 80,240 x2H 82 1,284
-2 140,00021+22+02 2,520
-DSY| 95,00021+2% 9% 1,710
-YEIOHI 500,000 %2 *13] 1,000
42 4,99%
201 L2 5,000 5,000
01 AtR2teld| 5,000 5,000 0
VENEREWEES 5,000
401 AlEHIZL 048I 40,000 20,000 20,000
01 Al&HI 39,568 20,000 19,568
HEtAld X2 24,730
28 2SS RAEF3A 14,838
03 Al&=2CHE| 43 0 432
HEAE KX 270
z2g RS SXBLTA 162
402 2I2tRH201H 2,500 0 2,500
01 CIZFRHE ALY B2 (KERITHE) 2,500 0 2,500
DUHIED| P R
1,250,000& 27| 2,500
AEOIE QID] Sx|(C@e) (FEA) 150,000 153,250 23,250
= 129,000
Al 21,000
401 AIZBIZ =T 150,000 153,250 23,250
= 129,000
Al 21,000
01 Al&HI 148,800 152,050 23,250
=T ASOMOIY| EIH U &K 148,800




SH A
B OFE AS O
ol Ol EAEE 2 oHIXE CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 127,968
Al 20,832
03 AIZ=0HI 1,200 1,200 0
sEg AgdI)] 2 2 £X 1,200
= 1,032
Al 168
og X =X 675,500 743,000 267,500
201 28t=3d| 372,500 370,000 2,500
01 At22telH] 16,500 14,000 2,500
A2F WHl & =al 10,000
JIEH OIS & AEH 4,500
SOl = Aol Tl &H&ES ?Hl S 2,000
02 S324H| 356,000 356,000 0
ANed R 250,000
SHHHEEIIE = 6,000
Az S8323 % SAH2| 100,000
202 O4H| 3,000 3,000
01 SUHOHI 3,000 3,000
SHOHX =S 2334| 3,000
401 AIZHIZL S0 300,000 370,000 A70,000
01 Al2HI 297,840 367,336 269,496
HHX = ZAt==ClH 297,840
03 AIE S0 2,160 2,664 A504
HBXN=H ZAt=clbl 2,160
=482 FH(FAH X2 48,000 78,000 30,000
307 212t01 ™ 48,000 78,000 30,000
04 QIZFHAAIH E X 48,000 78,000 230,000
g SO 8,000
SEEL F=10[ - E0el =X 20,000
AS I =X 20,000
St= 0 MNE F=SA1E 38,340 38,340 0
= 11,500
Al 26,840
201 28H=3| 38,340 38,340 0
< 11,500
Al 26,840
01 Al 22| 38,340 38,340 0
SEMZRNE RS (ES) 38,340
< 11,500
Al 26,840
ogel stek stils tal 30,000 30,000
307 212t01 ™ 30,000 30,000 0




M =4t
M HE A4S HE
o9l ORISR o OfRioIxIR (crel: xisl)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
04 CIZIHALAIRIE T 30,000 30,000 0
el ek storstiel XA 13,000
A1 518 SHOHY A KR 17,000
HOHHQ FE= KNSAS 10,000 10,000 0
301 LEEBHZ 10,000 10,000
14 J|Et243 10,000 10,000 0
HAHC! &= NRAAS 10,000
AE22IHY SEAIHI 72,000 153,000 A81,000
= 40,000
& 9,600
Al 22,400
402 QIZERHE0| A 72,000 153,000 A81,000
= 40,000
= 9,600
Al 22,400
02 CIZEXI= AL B (0| M THS) 72,000 153,000 281,000
AE22|HY SEALI 72,000
= 40,000
= 9,600
Al 22,400
HEUE HMEHZ XIJ 934,333 545,769 388,564
& 280,300
Al 654,033
307 212t01™ 934,333 545,769 388,564
& 280,300
Al 654,033
06 2= 934,333 545,769 388,564
HEY HMEEz AR 934,333
= 280,300
Al 654,033
LA ME MHERZS KA 14,000 10,800 3,200
& 5,600
Al 8,400
307 212to1™ 14,000 10,800 3,200
& 5,600
Al 8,400
06 2= 14,000 10,800 3,200
LAl AE ToHE2EZ KR 14,000
& 5,600
Al 8,400
=X F sHEHIOIESE 22 37,050 12,050 25,000
101 eI44| 2,400 2,400 0




SH A
B OFE AS O
P HENEE 2 HHOIXR (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
04 JI2HN22HSE+ 2,400 2,400 0
|7 sHEHIOISE M=
200,000& x2H 6 2,400
201 et23| 9,650 9,650
01 At22tel] 5,000 5,000
7 sHEHIOSE AIZF | 5,000
02 S3=4H| 4,650 4,650 0
27 sHEHISE 2] S32 4,650
401 AIZHIZL S0 25,000 0 25,000
01 Al2H| 24,730 24,730
|7 sHEHIIISE =2+ 24,730
03 AIZ=0HI 270 0 270
|7 sHEHINISE =2+ 270
=0 B Hglel 2dst K& 10,800 10,800
307 212t01 ™ 10,800 10,800 0
02 QIZHHAAIEE X 10,800 10,800 0
SOty B0 2l dgsl ns2E A 10,800
S0 23A N 70,000 70,000 0
307 212t01 ™ 70,000 70,000
02 QIZHHAAIEE X 70,000 70,000 0
SX07 23AH XA 70,000
e HHMEDIE =Y 183,000 168,000 15,000
201 Let23| 3,000 3,000 0
01 Al 22| 3,000 3,000 0
e HAHE0E 2 3,000
307 2I2t01 180,000 165,000 15,000
05 RIZI?IE= 180,000 165,000 15,000
Qe HAHH0IE =g 180,000
SEDIs RFHWAIE EX(ZHE) (HEAY) 316,512 150,000 166,512
& 272,200
Al 44,312
401 AIZHIZL S0 316,512 150,000 166,512
& 272,200
Al 44,312
01 Al2Hl 314,312 148,800 165,512
Foe 28 EXSA 158,800
= 136,568
Al 22,232
NS 2&n AYSA 185,512
= 133,740
Al 21,772
03 AIE=0HI 2,200 1,200 1,000




SN A
B E &5 F
P HENEE 2 HHOIXR (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Foe 2o EXISA 1,200
& 1,032
Al 168
N S8 AZSA 1,000
= 860
Al 140
ZEd d2oid0+ 22 270,000 316,857 /46,857
= 189,000
= 24,300
Al 56,700
307 212t01 ™ 270,000 0 270,000
= 189,000
& 24,300
Al 56,700
02 2B AEE X 270,000 0 270,000
ZlEd Moo+ 25 270,000
= 189,000
& 24,300
Al 56,700
FHojgel g N 133,200 97,200 36,000
= 93,240
Al 39,960
307 2I2t01 133,200 97,200 36,000
= 93,240
Al 39,960
02 QIZHHAAIEE X 133,200 97,200 36,000
FHOHEIHAIAL 133,200
= 93,240
Al 39,960
2GAl FA0HE 243 220" N3 40,000 40,000 0
307 2I2+0| ™ 40,000 40,000 0
02 I B AAEE X 40,000 0 40,000
FoAHE gdat =28 X 40,000
nas =012 - dl - g8 €3 - A K2 180,000 160,000 20,000
= 90,000
& 90,000
402 212tXH=01 S 180,000 160,000 20,000
= 90,000
= 90,000
02 QIZEXH=AIL 2 (01 - THE) 180,000 160,000 20,000
NeE L2J|2 - 4l - Zd] X1 - wH N 180,000
= 90,000
= 90,000




SN bkt
HM: Ol AS O
P HENEE 2 HHOIXR (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
o= - 0 =d& B2 70,251 72,619 AN2,368
101 el24d| 50,251 52,619 A2,368
04 JI2HN22HSE+ 50,251 52,619 N2,368
O0iY=aY g2l JIZtH22X 50,251
201 Let23| 20,000 20,000 0
01 Al 22| 20,000 20,000
U0 2B del ARl 20,000
EAE et 23,000 23,000
201 28=3| 20,000 20,000 0
01 At22tel] 20,000 20,000 0
THOHCHHI & o2t SRR (AN EXIE
21 % 222 MH) 20,000
202 O4H| 3,000 3,000
01 SUHOHI 3,000 3,000
THallCHEl & ot 2te] 212 3,000
OEALD OIZAIAE 25X~ 18,000 29,600 211,600
= 9,000
& 9,000
402 212tX=01H 18,000 29,600 A11,600
= 9,000
& 9,000
02 BIZAHE ARG 2 (01X THS) 18,000 29,600 A11,600
&AL GIZAIAR A=K 18,000
= 9,000
= 9,000
=4S HHIEALE HEN 80,000 49,223 30,777
= 80,000
301 Et2dS 80,000 49,223 30,777
= 80,000
14 JIEt2d= 80,000 49,223 30,777
A 4lE HIEAIZ REF 80,000
= 80,000
soel=g(0el) XA(EXE) 1,987,500 1,576,800 410,700
= 795,000
Al 1,192,500
301 Et2MS 1,987,500 1,576,800 410,700
= 795,000
Al 1,192,500
14 J0IEt2d= 1,987,500 1,576,800 410,700
sofel=g(oiel) XA 1,987,500
& 795,000
Al 1,192,500




2AM:
X{XH -
o /e

cH):

1t
e

BN

Jn
mre

He
= 01X

224
e M

b

Jton
o

HEE

SA B BRI(E) - NRAY - BAS ol &t G HIDE2
OENE=20E 28 50,000 0,000 40,000
401 AIEBILECHY] 50,000 0,000 40,000
01 AIZE] 50,000 0,000 40,000
OIEMBFHAIS JILAIE JH 50,000
=0121+2(0f21) I (XHH) 30,000 30,000 0
201 LEr2SY| 30,000 30,000 0
01 AFR22lt] 30,000 30,000
olelsg 2= [ 600
SI4T BTAZAER W HIg L
a2 29,400
Zareldlol olarsl Ofsl &40l A 20,000 10,000 0,000
307 DI2H0I & 20,000 0 20,000
02 SRIZAAMEEE 20,000 0 20,000
Sarei2iglol olgts] 48] &MYl NI 20,000
OIPESZA 51+ 2elAY 40,000 0 40,000
2 20,000
= 6,000
Al 14,000
307 DI2H0I A 40,000 0 40,000
2 20,000
= 6,000
Al 14,000
05 CIZISIES 40,000 0 40,000
20055 PRSI H 3l+22IAKY 40,000
2 20,000
= 6,000
Al 14,000
Old MSLFX AL 2= Xd 100,000 0 100,000
402 PIRINI=0I A 100,000 0 100,000
01 SIRIRHE AT 2 (RHAITHR) 100,000 100,000
08 RISASII AAH PEX 100,000
2aeiRgel dEsle B ey 100,000 0 100,000
= 30,000
Al 70,000
402 DIRIXF=O0IE 100,000 0 100,000
= 30,000
Al 70,000
02 S = A 2= (01 =T ) 100,000 0 100,000
SRR SIBEIY B EY 100,000
= 30,000
Al 70,000
OIEMEFHS0IS AL XIS 200,000 0 200,000




M =4t
M HE A4S HE
o9l ORISR o OfRioIxIR (crel: xisl)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 60,000
Al 140,000
401 AlEHIZL 08I 200,000 0 200,000
= 60,000
Al 140,000
01 Al&Hl 200,000 0 200,000
=EAIE O 200,000
& 60,000
Al 140,000
s itE o1 =2 KR 840 0 840
& 840
301 EtEEZ 840 0 840
& 840
14 J|Et243 840 0 840
HEFitE s =8 K& 840
= 840
of==at XHR St 5,845,032 3,612,676 2,232,356
= 1,129,000
& 1,3%4,430
Al 3,321,602
SO 2 3,344,320 1,808,546 1,635,774
= 74,000
& 874,860
Al 2,395,460
SASRAC| (S (HEAIY) 459,500 464,500 A5,000
& 413,550
Al 45,950
206 =4I 459,500 464,500 A5,000
= 413,550
Al 45,950
01 M=l 459,500 464,500 A5,000
MBS YR 459,500
= 413,550
Al 45,950
HiXlet S XA 250,000 250,000
402 SIZERHE0| A 250,000 250,000 0
01 QIZENG AL E AR (XA ) 250,000 250,000 0
HiXIe SIHXIA 250,000
=NMBE HYE=E 257,000 157,000 100,000
201 et | 7,000 7,000 0
01 At22teld| 7,000 7,000 0
=OEEX SFEAL 7,000




SH A
HE: gt K25
I R AN o s (CHR: X 2)
SA - HH - SR(EH) - HRA ofl e Gl imE=T
206 M= Hl 150,000 150,000
01 MH=Hl 150,000 150,000
SLS S HYEF 150,000
307 2I2+0| ™ 100,000 100,000
02 QI B AAEE X 100,000 0 100,000
A =S HHE X2 100,000
HFHE HAXE 78,120 78,120 0
= 23,430
Al 54,690
402 212tX=01H 78,120 78,120 0
& 23,430
Al 54,690
02 QI XH2 AL E (01 A THE) 78,120 78,120 0
=S HExd 78,120
& 23,430
Al 54,690
oL 2t 11,000 58,000 247,000
201 28t=3d| 8,000 5,000 3,000
01 At22tel] 8,000 5,000 3,000
S50 0ISHE A=+ HXIZA 8,000
202 04| 3,000 3,000 0
01 2] 3,000 3,000 0
ot A GRFA ALY 3,000
SAE HS3 AILXIA(CHE) (HEAIY) 54,100 0 54,100
& 44,900
Al 9,200
402 BItAH=01 M 54,100 0 54,100
= 44,900
Al 9,200
02 BIZAHE ARG 2 (01X THS) 54,100 0 54,100
2A0Y Ksst Alg €X 54,100
= 44,900
Al 9,200
MR ES 2] 60,000 60,000 0
= 60,000
402 212HXH=01 S 60,000 60,000 0
= 60,000
02 QIZEXH=AIL 22 (01 - THE) 60,000 60,000 0
Olgd==2 U XI3AL 60,000
= 60,000
IR HE S 28,000 28,000 0
= 14,000




M =4t
FE R YO L
Bl =R £ (crol: ®al)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 4,000
Al 10,000
402 CIZHRHE0|A 28,000 28,000 0
= 14,000
& 4,000
Al 10,000
02 QIZENEAMLE R (01X M) 28,000 28,000 0
IESRE 22 K& 28,000
= 14,000
& 4,000
Al 10,000
S E S8XIA 95,000 95,000 0
= 28,500
Al 66,500
402 CIZHRHE0|N 95,000 95,000 0
= 28,500
Al 66,500
02 CIZEXI= AL B (0| M THS) 95,000 95,000 0
SAHE S4XA 95,000
& 28,500
Al 66,500
S 2 MAXR 77,200 77,200 0
& 23,160
Al 54,040
402 QIZERHE0| A 77,200 77,200 0
= 23,160
Al 54,040
02 CIZEXI=2 AL B (0| M THS) 77,200 77,200 0
S A MAXR 77,200
= 23,160
Al 54,040
LH=01 QAT JIHIAIME(EX) 64,000 23,760 40,240
& 19,200
Al 44,800
402 QIZERHE0| ™ 64,000 23,760 40,240
& 19,200
Al 44,800
02 QIZENEAMLE R (01X M) 64,000 23,760 40,240
LH==01 2FAIE DIBHAIAE 64,000
= 19,200
Al 44,800
Lis=01 AT SUISHEEALR) 320,000 0 320,000
& 96,000




SN bkt
M et Xels
Bl =R £ (CHol: X 2)
SA - HH - SR(EH) - HRA ofl e Gl imE=T
Al 224,000
402 212tXH=01 S 320,000 0 320,000
= 96,000
Al 224,000
02 2IRIXFEAIE E (01X THR) 320,000 0 320,000
=8 MY SHat 320,000
= 96,000
Al 224,000
oHa) CHErdat AIEZE(HEAY) 1,000,000 0 1,000,000
403 MR HSA=01A 1,000,000 1,000,000
02 SISO UEA=HAS A 1,000,000 1,000,000
Hah CHEFAMAR AJE 4 (2024) 1,000,000
o1& A XIZ0l X 15,600 15,600 0
= 4,680
Al 10,920
301 Et2AS 15,600 15,600 0
= 4,680
Al 10,920
14 J|Et2 = 15,600 15,600 0
HEA & XIZ0l K& 15,600
& 4,680
Al 10,920
BiCts SdAY 18,800 0 18,800
= 5,640
Al 13,160
403 MXIEHHSAH=Z01E 18,800 0 18,800
= 5,640
Al 13,160
02 SIS0 U= A EAI I 18,800 0 18,800
2025 HiCts REAY 18,800
= 5,640
Al 13,160
LAl Zae| AQIE EZAIAE T 160,000 0 160,000
& 48,000
Al 112,000
201 et23| 160,000 0 160,000
= 48,000
Al 112,000
01 At22telH] 160,000 0 160,000
2oy AOIE SEAIAE X 160,000
= 48,000
Al 112,000




SN bkt
FE R YO L
Bl =R £ (crol: ®al)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SHA LAY ADE SAAAE F5 350,000 0 350,000
& 150,000
Al 200,000
402 BItAH=01 M 350,000 0 350,000
= 150,000
Al 200,000
02 BIZAHE ARG 2 (01X THS) 350,000 0 350,000
SHA SAY ADE SAAAY 25 350,000
= 150,000
Al 200,000
fYls s+ £FJ| €X 30,000 0 30,000
& 9,000
Al 21,000
401 AIZHIZL S0 30,000 0 30,000
& 9,000
Al 21,000
01 Al2H| 30,000 0 30,000
faoe ds+2 F3J| £X 30,000
= 9,000
Al 21,000
LH==0 2PAE HIMZHMD| X 16,000 0 16,000
= 4,800
Al 11,200
402 212tXH=01 S 16,000 0 16,000
& 4,800
Al 11,200
02 QIZEXH=AIL 22 (01 THE) 16,000 0 16,000
=2 PAIE HIMEXD] I 16,000
& 4,800
Al 11,200
s dat 2,500,712 1,804,130 696,582
= 1,085,000
< 519,570
Al 926, 142
GESE= =Pl f 14,400 27,000 212,600
= 4,320
Al 10,080
402 212tXH=01H 14,400 27,000 A12,600
= 4,320
Al 10,080
02 BIZAHE ARG 2 (01X THSA) 14,400 27,000 A12,600
o e 14,400
& 4,320




SH A
FE R YO L
ool olged 83t CEREERD
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
| Al 10,080
OHAIIFeIZAE AIZIIN 2 45 X~ 40,000 75,080 /35,080
= 12,000
Al 28,000
307 212t01& 40,000 75,080 /35,080
< 12,000
Al 28,000
02 QIHH&AIEE X 40,000 75,080 235,080
oHaftFel2AE AEIITH & &4E X 40,000
< 12,000
Al 28,000
F& 2A0E JIEAE XA 17,340 40,000 N22,660
= 5,200
Al 12,140
402 St HE01A 17,340 40,000 N22,660
= 5,200
Al 12,140
02 QIZHIH2 AT 2 A (01X THA) 17,340 40,000 N22,660
T4 2ANHE JIEAE XA 17,340
< 5,200
Al 12,140
ZEBZNUXES(cIE-T) 1,360,000 1,073,600 286,400
= 1,020,000
< 68,000
Al 272,000
403 AXIEHHSAH=01H 1,360,000 1,073,600 286,400
= 1,020,000
= 68,000
Al 272,000
02 S 2SOCHEtA=2 X RIS AF ] 1,360,000 1,073,600 286,400
HEZHUHX 2S(cIEED) 1,360,000
= 1,020,000
= 68,000
Al 272,000
= ZEFAE X2 51,760 65,610 13,850
< 15,530
Al 36,230
402 SItXHE01A 51,760 65,610 213,850
< 15,530
Al 36,230
02 QIR AIE 2 (01X THE) 51,760 65,610 213,850
= EZAE X 51,760
= 15,530




SN bkt
FE R YO L
gel: oEeEd st (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES Gl imE=T
| Al 36,230
TYS e SItAel #=0 40,000 41,000 A1,000
= 12,000
Al 28,000
307 212t01 ™ 40,000 41,000 A1,000
& 12,000
Al 28,000
02 I B AEE X 40,000 41,000 21,000
TS A SItAke 40,000
& 12,000
Al 28,000
SHAIE 2tBIHEARE 19,258 18,960 298
101 el21d| 19,258 18,960 298
04 JIZtH22 XS 2E=+ 19,258 18,960 298
SHAIE SN (2401 19,258
HALIGHOILXIZ (=& EH)( 323,400 70,000 253,400
< 212,520
Al 110,880
402 BIZtAH=01 M 323,400 70,000 253,400
< 212,520
Al 110,880
02 QI AH2 ARSI E (0 323,400 70,000 253,400
JtseIAE S 323,400
= 212,520
Al 110,880
LAIE HSHHEALY) 206,410 216,880 /10,470
= 190,000
Al 16,410
402 212tXH=01H 206,410 216,880 /10,470
& 190,000
Al 16,410
02 QI XH2 AL E (01 ATHE) 206,410 216,880 210,470
SANHE dat 206,410
& 190,000
Al 16,410
20243 =2 TloH BEXIE = A& A 372,144 372,144
402 212tXH=01 S 372,144 0 372,144
02 2IREXEAIEE (0] 372,144 0 372,144
J=o=2 LIoH BEAIE O 372,144
FoHdS(2) FHA 56,000 0 56,000
= 35,000
Al 21,000




® S S S cieEe & = S S
i R % o S | o |od 2 3 < <
aH N 5} o ™ o
S < <
=)
o o O NI0 |19 |19 |©o N~ QD NO |O |O oo I~ D o o
o0 |10 |10 |O Lo QO 1O |O |O o O N~ (@) o o
|12 |=2 « SN2 =2 << Q S < <
© |©O |© |© |© o Yol N RTo BN T (e NaN| < [o0] <t <t
uy SR S s s
m< = N~ ™
RIS
S Qe Qe eeeeee @ N BIee|Q | QI (e QM N B WBIo T 0 oo O CQ Qe @ Q9 9
B8 IBB8BJCC|C@@ 9B IRI2IRIFEVIYIYSIEISS|IEIRINISILEIESISIELS
B B R R R L
= o ol o 0 SV Fe- BV
w
=
mr =< m < W WH < W WH < W WH < W< m WH <
0
70
Bl —
. : &
oD 0 I
= ) o x &
ES - ja Mo _ < R
= g o 5 i = K
. 1 o uﬂnm O K- KJ -
= ol = 2 30 o Ko m
= W = S < < al A f
B M B 2 o L 3 3 S
* e wle (= S0 [0 I =< K -
@ ool =¥ HEE M aziz 2 - 2 > . L
] R <0 - ol T R 1 < |80 (80 I =< - i ur =
ety I [ g0 0w _ (90 fob A 20 |1= S0 = |O0H O 0 S0 [ b S oF -
=R z | L _|Z @ |z |0 T, SlEl|m SIT|IE Sk Ll A A0
a0 R =1 ol B o [RO 1z ol [= o} [ S w0 [0 [Ho K (= (i U [&r 20 al ol T
= <F wl N~ o OF Rl o |57 |= |= ™ [0 ol s 1= [« Slaa|— & il ) N~ o 0
|m A o X S S U = P PSS il U o o S o Ll o S S
it [T 30 [ |lof | e JE [ N < ol o
TS o |20 |H < K|S ki {0
.. o0 (8] K S S
AT 5 S




A =
M = MBI
ol

cH):

L3
H= Ofl Ao e MimEE)

S - M. (FH) - MIEAY - Eh Ol &nboH

5]

403 NXISHISAH=01H 3,243,077 314,909 2,928,168
2,270,154
291,877
681,046

Mo

=

SIS AISHI 3,243,077 314,909 2,928,168

£otet MEDH OENEHSIAMNG 3,243,077

2,270,154
291,877
681,046

Mo

=

=L HEMSHSIA(FEI) 2,891,320 1,177,628
2,024,124
260,659
606,537

e

,713,692

Mo

=

o
>
oin

403 KHXIEHHI

ball

=01 2,891,320 1,177,628
2,024,124
260,659
606,537

,713,692

SRR

=

02 SJ12SOICHE X=X 2(E A 2,891,320 1,177,628
=8 HENEEHSTAE 2,891,320
2,024,124

260,659
Al 606,537

—_

, 713,692

SRR

i
H

QI_I
Q
oo
o
ro
o
Ofr

,000,000

—_

,000,000

N
(@)
>

m
é
on
=
=

,000,000

e

,000,000

(]
N
0n
A Pl
| M
] =
M
JA
d0

e
on
2
2
Jo
=
R
==

,000,000 0
,000,000

e

,000,000

i
0o
Q

Q'E
0
r
o
Ofr

02
0
oo
[=1N:
I
>
o
JU
O
pal
>
gg
10
0g!
®

,500,000 0
,050,000
135,000
315,000

e

,500,000

Mo

=

o
>
on

t

403 MXIEHHSAH=Z01E

ball

,500,000 0
,050,000
135,000
315,000

,500,000

SRR

=

,500,000 0
,500,000
,050,000
135,000
Al 315,000

—_

,500,000

o
N
rno Oe
o
[
oin
2
Q
o
-
r
J
N
Jm
>
it
[==

QI_I
<
T

>

o
¥
O
il
=
114

SRR

02
0%

102,020 102,020

02
=3 O
&

fc| Ho

(|

102,020 102,020

S
M| o
0
=

102,020 102,020

Ol O O] ©

o
<
e
e
A0
0
=

66,460 66,460




2AM:
T ZH -
o /e

by

N

ord
K]
OH
[l

-

KIo

Hlw

dEE
Ofl &b oK

56,460

10,000

28,760
28,760

6,800
2,000

4,800

56,460
21,060

5,400

30,000

10,000
10,000
28,760
28,760
28,760

6,800
2,000
2,000
4,800
4,800

=)
= O0F 80
<) RO M)
<+ @0~

cH):

$: VoL

- SR(SIAH) - HRAHS

- H

A

01 AtR2te|H]

450,000~ 122

A

<
ulo
ul

0ol 83t

30
W
H0
H0

no
H0
H0
ulo
no

b

=Y
OF

202 044l

01 2O

=LH0IH]




